Includes
Installation Instructions

Pair
(includes M1)

Pair

Installation Instructions

Right

Installation Instructions

Right

Left Left
Right
Left
N

Please Note

The bumper wheel can be used with any combination of
outside edge, bell extension, or plate extension.

The mats are included with the footplate / extension
assemblies. They are also available individually for
replacement if needed.

Due to a product enhancement, the Tapered Footplates
are on runout and have been replaced with the Version 4
footplates.

If selecting a tapered footplate, check inventory before
X n/a X ordering

If replacing a tapered footplate with a Version 4 footplate,
both the left and right sides must be selected

8" Plate Extens

11" Plate Extensipn X

>
>
>
=
oY)

AFP and CMT Footplates Extensions & Mats, Thu Oct 02 01:30:16 UTC 2025
Gen. 2, Tapered



AFP and CMT Footplates Extensions & Mats, Gen. 2, Tapered

Item Part No. Name Qty
Al-A3 RIG152510 BRACKET,ASSY,4" FOOTPLATE OUTSIDE EDGE,PAIR 1
Al MEC142335 FOOTPLATE,OUTSIDE EDGE,4",RIGHT 1
A2 MEC142336 FOOTPLATE,OUTSIDE EDGE,4",LEFT 1
A3 SCRSHFH1022 SCREW, FLAT HEAD, M6x1 x 16, 1ISO 10642, CL 10.9, BZ 4
B1-B3 BRACKET,ASSY,6" FOOTPLATE OUTSIDE EDGE,PAIR (NO LONGER AVAILABLE) 1
B1 FOOTPLATE,OUTSIDE EDGE,6",RIGHT (NOT AVAILABLE INDIVIDUALLY. THE COMPLETE ASSEMBLY | 1

MUST BE SELECTED)
B2 FOOTPLATE,OUTSIDE EDGE,6",LEFT (NO LONGER AVAILABLE) 1
B3 SCRSHFH1022 SCREW, FLAT HEAD, M6x1 x 16, ISO 10642, CL 10.9, BZ 4
Cl1-C3 RIG152517 BRACKET,ASSY,FOOTPLATE WIDTH EXTENSION FOR 8",PAIR 1
C1 MEC142570 FOOTPLATE,EXTENSION,W/MAT, TAPERED,8",RIGHT 1
C2 FOOTPLATE,EXTENSION,W/MAT, TAPERED,8" LEFT 1
C3 SCRSHFH1022 SCREW, FLAT HEAD, M6x1 x 16, ISO 10642, CL 10.9, BZ 6
D1 RIG152518 BRACKET,ASSY,FOOTPLATE WIDTH EXTENSION FOR 11",PAIR 1
E1-E3 RIG152519 BRACKET,ASSY,FOOTPLATE BELL SHAPED EXTENSION,PAIR 1
E1 FOOTPLATE,EXTENSION,UPPER, TAPERED,W/MAT,RIGHT (NO LONGER AVAILABLE) 1
E2 FOOTPLATE,EXTENSION,UPPER, TAPERED,W/MAT,LEFT (NO LONGER AVAILABLE) 1
E3 SCRSHFH1022 SCREW, FLAT HEAD, M6x1 x 16, ISO 10642, CL 10.9, BZ 8
Fla MEC144155 MAT, FOOTPLATE,5" X 6",TAPERED,RIGHT 1
Flb MEC144168 MAT,FOOTPLATE,5" X 6", TAPERED,LEFT 1
Gla MEC144127 MAT, FOOTPLATE,5" X 8",TAPERED,RIGHT 1
Glb MEC144134 MAT, FOOTPLATE,5" X 8", TAPERED,LEFT 1
Hla MEC144053 MAT, FOOTPLATE,5" X 11", TAPERED RIGHT 1
H1b MEC144061 MAT, FOOTPLATE,5" X 11", TAPERED,LEFT 1
Ila MAT,FOOTPLATE EXTENSION,TAPERED,8",RIGHT (NO LONGER AVAILABLE) 1
I1b DGN142571 MAT,FOOTPLATE EXTENSION,TAPERED,8",LEFT 1
Jla DGN142501 MAT,FOOTPLATE EXTENSION,TAPERED,11",RIGHT 1
Jib DGN142516 MAT,FOOTPLATE EXTENSION,TAPERED, 11" LEFT 1
Kla MAT,FOOTPLATE EXTENSION,UPPER, TAPERED,RIGHT (NO LONGER AVAILABLE) 1
Kib MEC144484 MAT,FOOTPLATE EXTENSION,UPPER, TAPERED,LEFT 1
L1 WHL1612226 WHEEL,ASSY,BUMPER,ANGLE ADJUSTABLE FOOTPLATE 1
M1 SCRSHFH1022 SCREW, FLAT HEAD, M6x1 x 16, ISO 10642, CL 10.9, BZ 8

AFP and CMT Footplates Extensions & Mats,

Gen. 2, Tapered

Thu Oct 02 01:30:16 UTC 2025




	AFP and CMT Footplates Extensions & Mats, Gen. 2, Tapered

